3/31/2021

Subject Code : 103 v

Subject

Code Exam Date
103 30-03-2021
103 30-03-2021
103 30-03-2021
103 30-03-2021

202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU

Questions

Who among following was declared by the UN as “the
most famous teenager in the world” in its ‘Decade in
Review’ report in Dec 2019?

(A) Malala Yousafzai

(B) Jhumpa Lahiri

(C) P V Sindhu

(D) Dipa Karmakar

Which airport has recently bagged the Airports
Council International World’s “Voice of the Customer’
award?

(A) Indira Gandhi International Airport, Delhi.

(B) Kempegowda International Airport, Bengaluru.

(C) Netaji Subhash Chandra Bose International
Airport, Kolkata.

(D) Chhatrapati Shivaji International Airport,
Mumbai.

Which state has recently won National Award for Best
Electoral Practices 2020?

(A) Meghalaya

(B) Madhya Pradesh

(C) Uttar Pradesh

(D) Gujarat

Who among the following constructed Kochi-
Mangaluru Natural Gas Pipeline which was
inaugurated by PM Modi?

(A) Oil and Natural Gas Corporation

(B) GAIL India Ltd
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(C) Bharat Heavy Electricals Limited

(D) Petronet LNG

In Jan 2021, Union Cabinet approved the MoU with
which country to send Indian Specified Skilled
Workforce to work in 14 professional sectors of that
country?

(A) Japan

(B) Malaysia

(C) Singapore

(D) South Korea

Replace the underlined part with an appropriate
meaning.

He sold his house for a song.

(A) very cheaply
(B) at a discount
(C) at a premium

(D) at a reasonable price

In question below, the passage consists of six
sentences. The first and sixth sentences are given in
the begining. The middle sentences in each have been
removed and jumbled up. These are labelled as P, Q, R
and S. Find out the proper order for the four sentences.

S1: She said on the phone that she would report for
duty next day.

P : We waited for few days then we decided to go to
her place.

Q : But she did not.

R : We found it locked.

S : Even after that we waited for her quite a few days.
S6: Eventually we reported to the police.

(A) QPRS
(B) PQSR

(C) PRQS
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(D) QPSR

Give antonym for the word
‘ZENITH'

(A) acme

(B) nadir

(C) climax

(D) pinnacle

In question given below, a part of the sentence is
italicised and underlined. Below are given alternatives
to the underlined part which may improve the
sentence. Choose the correct alternative. In case no

improvement is needed, option '"No improvement'
may be chosen as the answer.

The record for the biggest tiger hunt has not been met
since 1911 when Lord Hardinge, then Viceroy of
India, shot a tiger that measured 11 feet and 6 inches.
(A) No improvement

(B) improved

(C) broken

(D) better

Fill up with most appropriate option:

It took the child a long time to recover the
shock.

(A) over

(B) under

(C) from

(D) about

In the following question, a word is followed by four

choices. Choose the word which is the most essential
part of the given word.
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Writing
(A) Author
(B) Novel
(C) Skills
(D) Pen
Choose the word which is least like the others in a
group?
(A) Mason
103 30-03-2021 12 (B) Engineer (D)
(C) Blacksmith

(D) Mechanic

Look at this series:
12, 38, 116, 350, 1052, ?

What number should be the last?

103 30-03-2021 13 (A) 2200 (B)
(B) 3158
(C) 1800
(D) 2800

103 30-03-2021 14 A, B,C,D E, F, G, & H are eight friends. They are (A)

sitting on the circumference of a circular ground.
Some of them are facing the center & some are facing
outside. The person facing the center, who is second to
the left of B is A & is third to the left of H. H, F, G &
E are not facing the center. D is at the left of H &
second to the right of C. G is not the neighbour of B &
F. E is second to the left of G, who is second to the left
of F. Who is fourth to the left of D?

(A)B
(B) C

OF
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D) A

E is the sister of B. A is the father of C. B is the son of
C. So how is A related to E?

(A) Grandfather

(B) Brother

(C) Father

(D) Grandson

Two girls move in opposite directions, one from A to
B and other from B to A. The girl from A reaches the
destination in 16 hrs and girl from B reaches her
destination in 25 hrs, after having met. If former's
speed is 25 km/hr, what will be the speed of latter?
(A) 10 km/hr

(B) 20 km/hr

(C) 12 km/hr

(D) 16 km/hr

The ratio of Rohan’s age 4 years ago and Rahul’s age
after 4 years is 1 : 1. If at present, the ratio of their
ages is 5 : 3, then find the ratio between Rohan’s age 4
years hence and Rahul’s age 4 years ago.

(A)1:3

B)3:1

(C)4:3

(D)3:4

Gopal and Ravi contracted a work for Rs 480. If
Gopal can do that work in 15 days and Ravi can
complete that same work in 10 days. He completed
this work with Mahesh in 5 days, then how much
money Mahesh got.

(A) Rs.80

(B) Rs.120
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(C) Rs.160

(D) Rs. 40

The price of 10 chairs is equal to that of 4 tables. The
price of 15 chairs and 2 tables together is Rs. 4000.
The total price of 12 chairs and 3 tables is:
(A) Rs. 3800
103 30-03-2021 19 ©
(B) Rs. 3400
(C) Rs. 3900

(D) Rs. 3500

The length of a rectangle is twice its breadth. If its
length is decreased by 5 cm and the breadth is
increased by 5 cm, the area of the rectangle is

increased by 75 cm?. Therefore , the length of the
rectangle in cm is ?

103 30-03-2021 20 (A)20 (C)
(B) 30
(C) 40

(D) 50

ISDN stands for:
(A) Internal Select Data Network

103 30-03-2021 21 (B) Interval Set Down Network (D)
(C) Interior Services Direct Network

(D) Integrated Services Digital Network

103 30-03-2021 22 MPS stands for: (A)
(A) Master Production Schedule
(B) Material Planning Schedule
(C) Master Planning Schedule

(D) Material Production Schedule
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In ethical hacking and cyber security, there are ........
types of scanning:

(A)1
103 30-03-2021 2B B2 (C)
()3

(D) 4

DNS translates a Domain name into ...................
(A) Hex

103 30-03-2021 24 (B) Binary ©)
(C) URL

(D) IP

The printer output speed is measured in ....
(A) Dot per inch

103 30-03-2021 25 (B) Pages per minute (B)
(C) Lines per inch

(D) Kbps

Shortcut of Web page Refresh is ...

(A) F4

103 30-03-2021 26 (B) F5 (B)
(C)F6
(D) F7

103 30-03-2021 27 Full form of png is .. (A)

(A) portable network graphics
(B) post network graphics

(C) pre network graphics
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(D) portable network GUI

Fill in with most appropriate option: " are
welcome, for it is not obligatory to accept them."

(A) order

(B) commands

(C) courtesy

(D) suggestion

In statistics, the data which have already been
collected by someone is called:

(A) Population data

(B) Primary data

(C) Secondary data

(D) Organized data

Warehouse rent is a part of which cost?
(A) Production cost

(B) Distribution cost

(C) Prime cost

(D) Factory cost

Cost accounting was developed because of the
(A) limitations of financial accounting

(B) limitations of management accounting

(C) limitations of human resource accounting

(D) limitations of double entry accounting

Storage which stores or retains data after power off is
called

(A) Volatile storage
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(B) Non-volatile storage
(C) Sequential storage

(D) Direct storage

MIMD stands for
(A) Multiple Instruction Multiple Data

103 30-03-2021 33 (B) Multiple Instruction Memory Data (A)
(C) Memory Instruction Multiple Data

(D) Multiple Information Memory Data

DBMS is a collection of that enables user to
create and maintain a database.

(A) keys
103 30-03-2021 34 (B) program (B)

(C) translators

(D) language activity

Processed data is called
(A) raw data

103 30-03-2021 35 (B) source ©)
(C) information

(D) useful data

In MS WORD you can detect spelling and grammer
errors by

(A) press SHIFT+F7
103 30-03-2021 36 (B) press CTRL+F7 ®
(C) press ALT+F7

(D) press F7

103 30-03-2021 37 In Microsoft Excel spreadsheets, rows are labelled as (A)
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(A)1,2,3,....
(B) A,B,C,....
(C) ALLBLCI....

(D) LILIIL.....

Net profit is computed in the
(A) Profit and loss account

103 30-03-2021 38 (B) Balance sheet (A)
(C) Trial balance

(D) Trading account
Which one of the following is not one of the major
types of e-commerce?
(A) C2B
103 30-03-2021 39 (B) B2C (A)
(C)B2B

(D) C2C

Every sentence has two essential partsa  anda .
(A) clause, predicate
103 30-03-2021 40 (B) subject, phrase ©)
(C) predicate, subject
(D) subject, clause
Which of the following is considered as the
unsolicited commercial email?
(A) Virus
103 30-03-2021 41 (B) Malware ©)
(C) Spam
(D) All of the options
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Long term assets having no physical existence but,
possessing a value are called

(A) Intangible assets
103 30-03-2021 42 (A)

(B) Current assets

(C) Stock

(D) Tangible assets

The debts which are to be repaid within a short period
of one year or less are referred to

(A) Fixed liabilities
103 30:-03-2021 43 (B) Current liabilities (B)

(C) Current assets

(D) Fixed assets

A Journal lists transactions in which order
(A) Decreasing

103 30-03-2021 44 (B) Chronological (B)
(C) Alphabetical

(D) Increasing

Which of the following is a liability?
(A) Motor vehicles

103 30-03-2021 45 (B) Machinery ©
(C) Creditors for goods

(D) Cash at Bank

103 30-03-2021 46 The owner of consignment stock is (A)
(A) Consignor
(B) Debtor
(C) Consignee

202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU 1117



3/31/2021 202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU

(D) Investor

What is MIS?
(A) Management Information System

103 30-03-2021 47 (B) Micro Information System (A)
(C) Management Internet System

(D) Mass Information System

Mouse is a
(A) Input device

103 30-03-2021 48 (B) Output device (A)
(C) Memory device

(D) Both input & output device

Generally duration of accounting period is
(A) 1 month

103 30-03-2021 49 (B) 2 months (D)
(C) 6 months

(D) 12 months

Liabilities and assets amount to Rs.50000 & Rs.7800
respectively. The difference amount shall represent

(A) Creditors
103 30-03-2021 50 (B) Debentures (D)
(C) Profit

(D) Capital

103 30-03-2021 51 Which of the following assets does not depreciate? ©)
(A) machinery
(B) patents
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(C) land

(D) furniture

Puchase of a ball point pen by a clothing company is
(A) direct material

103 30-03-2021 52 (B) indirect material (B)
(C) electronic data interchange

(D) None of the options

In the absence of agreement, all partners are entitled to
share profits

(A) not entitled to any share
103 30-03-2021 >3 (B) in capital ratio (D)
(C) in proportion to their age

(D) equally

What is the shortcut key to replace in MS-Excel?
(A) Ctrl+R
103 30-03-2021 54 (B) Ctl+E ©)
(C) Ctrl+H
(D) Ctrl+L
Which menu is used to show and hide the Status Bar
in Excel?
(A) Edit menu
103 30-03-2021 55 (B) File menu ©)

(C) View menu

(D) Format menu

103 30-03-2021 56 A function inside a function is called (A)
(A) Nested Function
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(B) Round Function

(C) Sum Function

(D) Text Function

The cell address in the Microsoft Office Excel
document is

(A) Column Name
103 30-03-2021 57 (B) Row Name (D)
(C) First Row then Column Name
(D) First Column then Row Name
In MS Excel, which of the following option is not
available in the Data menu?
(A) Validation
103 30-03-2021 58 (B) Filter (A)
(C) Freeze Pane
(D) Sort
“Comment” option is found in the ............ menu in
MS Excel
(A) Insert
103 30-03-2021 59 (B) Data (A)
(C) Review

(D) View

Missing slot covers on a computer can cause

(A) over heat

103 30-03-2021 60 (B) power surges (A)
(C) EMI
(D) ESD

103 30-03-2021 61 ..... 1s the modern hang up command (B)
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(A) ATHU
(B) ATH
(C) ATZ
(D) ATX
... 1s the maximum length allowed for primary name of
a computer file under DOS ?
(A)3
103 30-03-2021 62 (B) 5 ©)
©)8

(D) 12

Internal commands in DOS are
(A) Del, disk, copy, label
103 30-03-2021 63 (B) Cls, rd label (D)
(C) Dir, ren, sys
(D) Time, type, dir
From where we can change the name of an User
Account ?
(A) Control Panel
103 30-03-2021 64 (B) settings (A)
(C) Control Pad

(D) Computer name

103 30-03-2021 65 Which of the following is a single-user operating ©
system?

(A) windows
(B) MAC

(C) MS DOS
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(D) None of the options

The term “ Micro” is derived from the ....... word
which means........
(A) Latin, small
103 30-03-2021 66 (B) Greek, small (B)

(C) Roman, small

(D) English, small

Repo transactions are permitted in

(A) Government securities / Treasury bills of all
maturity

103 30-03-2021 67 (B) State Government securities (D)
(C) PSU bonds/Private corporate bonds

(D) All of the options

CRR means
(A) Cash Reserve Ratio

103 30-03-2021 68 (B) Current Rate of Return (A)
(C) Cumulative Rate of Return

(D) Current Rate of Rupee

Which of the following attacks requires a carrier file
to self-replicate?

(A) Trojan

103 30-03-2021 69 (B) Virus (B)
(C) Spam
(D) Worm

103 30-03-2021 70 The difference between people with access to (A)

computers & the Internet and those without this access
is known as the
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(A) Digital divide

(B) Internet divide
(C) Web divide

(D) Broadband divide
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